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Note : (i) Youmustwrite the subject code/paper code 053/A in the boxprovided on the titld

page of your answer-book. \
(ii) Make sure that the answer-bqok'contains 30 pages (including title page) and are

prctperly serialed as soon as you receive it.

---."..,"*={*r+} --,.QW.AtrWd:{-attempted after leaving'blank page/s in the answer-book,yvould not be

evalwated.

(iv) Log tables may be asked for if needed.

(v) Use of simple calculator is allowed.

, (vi) Marks allotted to each question are indicated againstr it.

(vii) The paper comprises of 26 questions. Auempt total 26 questions. Internal choice is

given in Q. No. lgr 23r 24?25 an;d 26- . , 1

(viii) Question No.l to 8 carry one mark each. Answer in one line.

(ix) QuestionNo. g to 16 wilt be of twi,o marks each. AJI questions are compulsory. They !

are short answer tYPe questions.
_ ,i.:,, ,-

-" (x) QuestionNo. LT'to23willbe af 4marks.each.AJl questions are corapwlsory. Inlernat

.choiceisg.iv.9nforQ.No.ty:b*..zl,"-.'.--*.-...,
l

''+a'(xi) 
Qiestion No.24125 and'26(frtree qies,tiotrs) wiltbt$-Suaqyks #h, Alt qw,istions

cire compulsory. Full intental choice is given.

.All questions are compulsory.

,r' Under what conditions the van't Hoff factor is greater than one ? 1

[Tur,n over
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!'
f-

I (2')
.r/

{ Define order of reaction.

to complete 80Vo.
lrE

- CH.
Write down IUPAC name of cHr-[;'

OH

CooNa
+ NaOH C"nf,frf1t

l'r

I

t

2

2

2

2
ri::.

t4 '*'=.

2

,/:
,I{Wtite down reactions involved in preparation of Potassium dichromatev/ . .,J i.,,

ore.
.

o5s/A"ss

?

{a
t
g

I

from chromite

2

{ Write down an isomer of CrHrOH.

t

L

-4g What are food preservatives ?

/-
ff: What are antacids ?

1

.-!9ni treCo-ordination

rrsrlruvr vt l\c, I\_rlt ID 1, \rl -f. ,)

,p/Lfirst order reaction is[I%ocomplete in 20 minutes. Calculate the time it will take the reaction

number of Na* ion is 6 or 4.

./\

*$< what is gravity seiiaration method for conientration of ore ?
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IEry

(3)

t'A"rermine the type of cubic lattice to which the erystal of the',element indicated here

18..,::{i)-".,,P.rove that osmotic pressure is taotlig4tiveproperty. ' o 
:{ 

,,

(ii) Calculate the molar concentration:of urea solution if it ex.erts an os'rnotic pressure

of Z.4latmosphere at 300K. [R= 0.0821 Latm.rrol r]irl 2

,/
hat is electro chemical theory of rusting of iron and give two methods of prevention of rusting

of iron ?
I

,

Write the Nernst equation and calculate the emf of following cell at 298K:-
-E:..!-!-:_-:::++:::!::L

: ..:-.::.+.*+"_- .-- r\*€+@

i. :,Niali2* (os1.l4!*$&#"f€s.(&.€1M)

Given Eo (Cu2*/Cu)'='+''0.34Y E:(Ni2*/Ni)= -0.22Y ""''-

^&alcShols 
*" easity protonated bul phenGtrs'.are not protonated ?

=.,,.-O"rorgs. 
It h1s an edge length of

. element = 5=-6.am-rr.

a densityr7.80 g cm-J' Atomic mass of294
J\l

pm and
t

,t

{
-.l{

4

-
'.:--| :

.l
ZVOefne Tyndal,l effect. Differentiate betWeen electrophoresis and etectroosmosis.
{

\

,/)'
(y (ik-Wt V are lnterhalogeo compounds more reactive than halogens ?

-/
6 All the fivpbonds iil PC/5 are not equivalent. Justify.

22. (ffi*L ha5 higherboiling point than toluene. Why ?

A
23. Lfr { Write HeIl - Volhard-Zelinslry reaet(on.\_

(jj/ Wnte cross atdot condensation.

(iii) Ethanbic acid is weaker acid than benzoic acid. Why ?

053/A-SS

4

2

2

2

:'z

--'-'
{Thrn ov,er

1r1 --I

"1,/T{
!

1L

br
pa

pe
r.c

om

br
pa

pe
r.c

om

https://brpaper.com


(4)

nz,

2

2

3

2

1

2

2

2

3

2

I

or-

= 
(i) Hydiogen atom of chloroform is acidic. Expleia.

(ii) Why is dehydrohalogenation reaction in haloalkanes

- reaction'l

053/A-SS

/-
24. {d Why is H3PO3 diprotic in nature ? Draw structure.

.r'
(i'r) -Why is HrS less acidic than H;Te ?
./(iil Give hybridization and draw structure of XeFu.

(i)

(ii)

(rrr)

How is nitric acid manufactured by Qstwald process ?

Write down thereaction of Ozone withblacklead sulphide.

Draw structure of IF .'1'

-/25vl+Y' Scand"ium (z = 21) is a transition element but zinc (z - 30) is not. Explain.

(ii) late equivalentweight of KMnOr in acidic medium.

What do you mean by Lanthanoid contraction ?

or

(i) ' writeldown unyihr". differences between Lanthanoids andActinoids.

26. Write the following reactions :

gy' W ittiamson' s synthesi s

(ii) Mendius reaction

9l1f Friedel Craft' s Alkylation

.jYY Haloform reaction

3

termed as Beta-elimination
aJ

1

1

L

1-

1

1{:,rt uuerrn an n reacti on br
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